ROBSTOWN INDEPENDENT SCHOOL DISTRICT AGENDA ACTION SHEET

Da	te: August 11, 2025
Sul	oject: Discuss and Consider Approval of ESC 2 Contract for Programs and Services
Ad	ministrator Responsible: Diana L. Silvas
Ро	sition: Assistant Superintendent of Human Resources
A.	Purpose of Agenda Item: Information Only X Action Needed
В.	Authority for this Action: Local Policy Law or Rule
C.	Strategic Objective, Goal, or Need Addressed:
	Approve the recommended ESC 2 Contract for Programs and Services for 2025-2026
D.	Summary: Please see attached summary of the programs and services received from ESC 2.
Ε.	Alternatives Considered:
F.	Comments Received:
G.	Administrative Recommendation: That the Board approve the 2025-2026 ESC 2 & ESC 12 Contract as presented.
Н.	Fiscal Impact and Cost: ESC 2 - \$107,386.00
I.	Monitoring and Reporting Time Line: 2025-2026

Education Service Center 2025-2026

Program Group	Program Offering	Pricing Details	Price	Quantity	Total Price
ASCENDER Career Portal	Career Portal	Per District	\$500.00	1	\$500.00
Assessment & Accountability	Assessment & Accountability Coop (AAC)	Per District	\$3,000.00	1	\$3,000.00
Counselor Services Cooperative	Counselor Services Cooperative	Per Participant	\$650.00	2	\$1,300.00
DMAC Services	TAG-TEKS Assessment Generator	Per Campus	\$500.00	5 Campuses	\$2,500.00
DMAC Services	lead4ward	Per Campus	\$395.00	5 Campuses	\$1,975.00
DMAC Services	TEKScore	Per District	\$1,500.00	1	\$1,500.00
DMAC Services	State Assessment	Per District	\$1,500.00	1	\$1,500.00
DMAC Services	Class Roster	Per Student	\$1.65	2570	\$4,240.50
DMAC Services	Appraisals	Per Campus	\$500.00	5 Campuses	\$2,500.00
Early Childhood Cooperative	Early Childhood Cooperative	Per Campus	\$2,000.00	3 Campuses	\$6,000.00
Library Learning Community Collaborative	Library Learning Community Collaborative	No Cost	\$0.00	Send Information	\$0.00
OnDataSuite	OnDataSuite	Tiered Pricing	\$6,250.00	2570 Students	\$6,250.00
Personnel Services Advisory	Personnel Services Advisory Cooperative	Per District	\$1,000.00	1	\$1,000.00
Reading Academies	Reading Academies	Per Participant	\$3,000.00	10	\$30,000.00

School Business Advisory Coop	School Business Advisory Coop (SBA)	Per District	\$2,000.00	1	\$2,000.00
School Health / Nurse Cooperative	School Health / Nurse Cooperative	Per District	\$2,000.00	1	\$2,000.00
School Safety Cooperative	School Safety Cooperative	Tiered Pricing	\$1,050.00	2570 Students	\$1,050.00
Special Education Programs Support Cooperative	Special Education Programs Support Cooperative	Base Fee + Per Student	\$3,800.00 + \$0.25	2570 Students	\$4,442.50
State-Federal Programs Partnership	State-Federal Programs Partnership	Tiered Pricing	\$4,750.00	2570 Students	\$4,750.00
TCMPC TEKS Resource System	TCMPC Curriculum Documents	Per Student	\$5.40	2570	\$13,878.00
TCMPC TEKS Resource System	TCMPC Online System	Per Campus	\$750.00	5 Campuses	\$3,750.00
TSDS PEIMS Coop	TSDS Coop	Tiered Pricing	\$13,250.00	2570 Students	\$13,250.00
				TOTAL	\$107,386.00

.

					<u> </u>
School Business Advisory Coop	School Business Advisory Coop (SBA)	Per District	\$2,000.00	1	\$2,000.00
School Health / Nurse Cooperative	School Health / Nurse Cooperative	Per District	\$2,000.00	1	\$2,000.00
School Safety Cooperative	School Safety Cooperative	Tiered Pricing	\$1,050.00	2570 Students	\$1,050.00
Special Education Programs Support Cooperative	Special Education Programs Support Cooperative	Base Fee + Per Student	\$3,800.00 + \$0.25	2570 Students	\$4,442.50
State-Federal Programs Partnership	State-Federal Programs Partnership	Tiered Pricing	\$4,750.00	2570 Students	\$4,750.00
TCMPC TEKS Resource System	TCMPC Curriculum Documents	Per Student	\$5.40	2570	\$13,878.00
TCMPC TEKS Resource System	TCMPC Online System	Per Campus	\$750.00	5 Campuses	\$3,750.00
TSDS PEIMS Coop	TSDS Coop	Tiered Pricing	\$13,250.00	2570 Students	\$13,250.00
				TOTAL	\$107,386.00

.